

الف) $y = (x-2)(x-3)(x-4)$	$\frac{2}{-} \frac{3}{+} \frac{4}{-} \frac{4}{+} \rightarrow [2, 3] \cup [4, +\infty)$	
ب) $y = (x-2)(x-3)^2(x-4)$ مضاعف	$\frac{2}{+} \frac{3}{-} \frac{3}{-} \frac{4}{+} \rightarrow (-\infty, 2] \cup \{3\} \cup [4, +\infty)$	
الف) $y = \frac{(x^2-2)(x^2-4)}{x^2-1}$	$\frac{2}{-} \frac{2}{+} \frac{2}{-} \frac{4}{+} \rightarrow [2, 2) \cup [4, +\infty)$	
ب) $y = \frac{(x^2-2)(x^2-4)}{(x-1)^2}$ مضاعف	$\frac{2}{+} \frac{2}{-} \frac{2}{-} \frac{4}{+} \rightarrow (-\infty, 2] \cup [4, +\infty)$	✓
الف) $y = \frac{x^3-3x^2+2}{x-3}$	$\frac{x^3-3x^2+2}{x-3} \div \frac{x^2+x-2}{x-3} = \frac{x^2+x-2}{x-3} \Rightarrow \frac{(x+2)(x-1)}{x-3}$ $\frac{-2}{-} \frac{1}{+} \frac{3}{-} \frac{3}{+} \rightarrow [-2, 1] \cup (3, +\infty)$	✓
ب) $y = \frac{x^3-3x^2+2}{x^2-4x+3}$	$\frac{(x^2-1)(x^2-2)}{(x-1)(x-3)}$ $\frac{1}{+} \frac{2}{-} \frac{3}{-} \frac{3}{+} \rightarrow (-\infty, 1) \cup (1, 2] \cup (3, +\infty)$	✓
الف) $y = \frac{x^2-x^3}{x^2+x+2} \rightarrow x^2(x^2-1) \Rightarrow$ $x^2+x+2 \rightarrow \Delta = \text{منفي } X$	$\frac{-1}{+} \frac{0}{-} \frac{1}{-} \frac{2}{+} \rightarrow (-\infty, -1] \cup \{0\} \cup [1, +\infty)$	✓
ب) $y = \frac{x^2+3x+2}{x^2+2x+3} \rightarrow \Delta = \text{منفي } X$ $x^2+2x+3 \rightarrow \Delta = \text{منفي } X$	$\frac{2}{+} \frac{3}{+} \frac{3}{+} \frac{3}{+} \rightarrow$ $\downarrow$ جميعها موجبة	✓
الف) $y = \sqrt{\frac{x^3-1}{x^2-x}}$ $\frac{x^3-1}{x^2-x} \geq 0 \Rightarrow \frac{x(x^2-1)}{x(x-1)} \Rightarrow \frac{x^2-1}{x-1} \Rightarrow \frac{(x-1)(x+1)}{(x-1)(x-1)} \Rightarrow \frac{x+1}{x-1}$ $\frac{-1}{+} \frac{0}{-} \frac{1}{+} \frac{1}{+} \rightarrow$	$\frac{x^2-1}{x^2-x} \geq 0 \Rightarrow \frac{x^2-1}{x^2-2x+1} \geq 0$ $\frac{-1}{+} \frac{0}{-} \frac{1}{+} \frac{1}{+} \rightarrow$	✓
ب) $y = \sqrt{\frac{x^2-14}{x^2-2x+4}}$	$\frac{x^2-14}{x^2-2x+4} \geq 0$ $\frac{-14}{+} \frac{1}{-} \frac{4}{+} \frac{4}{+} \rightarrow$	✓